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Mavericks 0 Macmini 0 0O 0O
system_profiler SPHardwareDataType 1 | 0 O 0O O

Model Name: Mac mini

Model lIdentifier: Macmini6,2
Processor Name: Intel Core 17
Processor Speed: 2.6 GHz
Number of Processors: 1

Total Number of Cores: 4

L2 Cache (per Core): 256 KB
L3 Cache: 6 MB

Memory: 16 GB
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// 0000000
import java.net.*;
import java.util.*;

public class UDPClient{

private DatagramSocket socket;
private InetAddress addr;

public UDPClient() throws Exception {
socket = new DatagramSocket();
socket.setSendBufferSize(16*1024*1024);
addr = InetAddress.getByName(*'127.0.0.1");
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private byte[] recv = new byte[65536];

public boolean send(byte[] buf) throws Exception {
DatagramPacket packet = new DatagramPacket(buf, buf.length, addr, 16384);
DatagramPacket reply = new DatagramPacket(recv, recv.length);
socket.send(packet);
socket.receive(reply);
return true;

}

public static void main(String [] args) throws Exception{



UDPClient test = new UDPClient();
byte[] buf = new byte[lInteger.parselnt(args[0])];
int times = 100000;
long t0, ti1;
t0 = Calendar.getlInstance().getTimelnMillis();
for(int i = 0; i < times; 1++){

test.send(buf);

tl = Calendar.getInstance().getTimelnMillis();
test.socket.close();
System.out.printin(buf.length + " " + (t1-t0));

// 0000
import java.io.*;
import java.net.*;

public class UDPServer{

private DatagramSocket socket;
private byte[] buf = new byte[65536];

public UDPServer() throws Exception {
socket = new DatagramSocket(16384);
socket.setReceiveBufferSize(16*1024*1024);

public boolean receive() throws Exception {
DatagramPacket packet= new DatagramPacket(buf, buf.length);

socket.receive(packet);

byte[] reply = packet.getData();

int len = packet.getlLength();

SocketAddress sockAddress = packet.getSocketAddress();

DatagramPacket replyPacket = new DatagramPacket(reply, len, sockAddress);
socket.send(replyPacket);

return true;
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public static void main(String [] args) throws Exception{
UDPServer test = new UDPServer();
while(test.receive() == true) ;
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